2023/11/17 16:02

1/2

telescope

1101048 Bom

Pos Art.nr Benamning Description Betegnelse Quan] Page
1 1101038 ttre bom Outer boom dre bom 1 B.20
2 H101037 Mellanbom Mid boom Mellem bom 1 B.30
3 [{01005 Sida hoger Side right Sida hoger 1
4 [101004 [Sida vanster Side left [Sida vanster 1
5 p61013 Vinkel 12mm 3/8 Elbow [Vinkel 1
6 p41010 Bricka 6Bmm MWasher 6mm [Skive 5mm 15
7 Pp41007 Skruv M6 x 10 [Screw M6 x 10 [Skrue M6 x 10 15
3 p41002 Mutter M6 Nut M6 Motrik 5
9 Pp01102 (Gummigenomfdring | ead-trough [Gummigennomfdring 2
10 p01115 Slapkedja Kabel-chain [Slapkaede 1
11 P61022 Slang bom Hose Slange 1
12 101006 Bakstycke Back Bakstycke 1
13 1101196 Toppstam Harness Kablage 1
14 1101105 nre bom nner boom ndre bom 1 B.40

rev 170618/eas

8.10-1

Envirologic Support Wiki - https://wiki.envirologic.se/



Last update: 2021/01/07 23:31 cc:telescope https://wiki.envirologic.se/doku.php/cc:telescope

From:
https://wiki.envirologic.se/ - Envirologic Support Wiki

Permanent link:
https://wiki.envirologic.se/doku.php/cc:telescope

Last update: 2021/01/07 23:31

https://wiki.envirologic.se/ Printed on 2023/11/17 16:02


https://wiki.envirologic.se/
https://wiki.envirologic.se/doku.php/cc:telescope

